Eng10 – Sentences05

· Concise Sentences
Concise Sentences

In an attempt to sound more academic or more authoritative (everybody wants to sound like they know what they are talking about), students often make the mistake of being redundant in their writing.  Being redundant is simply adding words or sentences that only increase the writing but do not increase the message.

For example look at the following sentence and see if you can identify the redunancy.

Many uneducated citizens who have never attended school continue to 

vote for better schools.

The redundancy in this sentence is the phrase; “…who never attended school”, after the opening mentioned “…uneducated citizens”.  It is redundant to describe “uneducated citizens” as people who have never attended school.

A concise version of the same sentence should then read;


Many uneducated citizens continue to vote for better schools.

Directions: Read the following sentences.  Identify the redundancy and then re-write the sentences in a concise manner.  The first one has been done for you.

1. At this point in time we can't ascertain the reason as to why the screen door was left open. 

We don't know why the screen door was left open.

2. My sister, who is employed as a nutritionist at Simon Fraser University, recommends the daily intake of megadoses of Vitamin C. 

3. Basically, in light of the fact that MP Darryl Stinson was totally exhausted by his last campaign, there was an expectation on the part of the voters that he would not reduplicate his effort to achieve office in government again. 

4. It is to be hoped that we discover a means to create an absolutely proper and fitting tribute to Mr. Trickey.

5. There is a desire on the part of many of us to maintain a two week spring break for the purpose of getting away from the demands of our studies.

6. In your humble opinion, what is your basic understanding of fate? 

7. At what point in time will inner city gang violence have a really serious effect on the social life of people as a whole? 

8. Bothered by allergies, a condition that made them sneeze, some of the preschool children had sinus troubles that caused them to miss several days in nursery school this spring. 

9. The nursery school teacher education training sessions involve active interfacing with preschool children of the appropriate age as well as intensive peer interaction in the form of role playing.
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